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Page Location Item Correction 
34 Fig. P1.10 missing resistor Add 10-Ω resistor in-series with 

voltage source 
52 Fig. 2-12c  Polarities across 2 Ω, 4 Ω, and 6 Ω 

resistors should be reversed 
92 Problem m2.2  R5 should be 22 kΩ 
196 Fig. P4.24 current source Change 2 A to 2 mA 
334 Problem 6.35 υs(t) υs(t)	
  =	
  8 V 
401 Problem 7.25 ω ω =	
  400 rad/s 
401 Problem 7.26 υs(t)	
   	
  

is(t) 
υs(t)	
  =	
  10cos(ωt +	
  15°	
  )	
  V  
is(t)	
  =	
  3sin(ωt +	
  30°)	
  A 

644 Problem 2.25 V2 V2 =	
  0 
 

	
  


